
1.5 fWXb3fl~W~  (Net export 1 NE)

EC 312



6klUW”  MP, du MP,

MI’

m,+m,P,-m,Pf-m,IT,,

m,+m,P,-m,P,-m,X,‘_

. ..’ .., MP,
. ..’ . ..’
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X

X x

(-) (f) (‘J  (+I  !-)

NE = NE ( P, Pf, n-, x , Y) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (1.49)
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Y  =  C + S + T . . . . . . . . . . . . . . . . . . . . . . . . . (1.52)

~~~~qarrm~"s~~~~~~~~~~~~

C + I + G =  C + S + T . . . . . . . . . . . . . . . . . . . . . . . . . (1.53)

l&l I + G  = StT . . . . . . . . . . . . . . . . . . . . . . . . . (1.54)

v&l I = S +(T-G) . . . . . . . . . . . . . . . . . . . . . . (1.55)

mJ"l7~  (1.55) aanc;l~il~l~YPl~~:oJlna~a~~~~la~~~oa~~7pr~~:acoJ~a~

I =s . . . . . . . . . . . . . . . . . . . . . . . . (1.56)

ifU%J Wl~a9~Ui~?hWW?‘?  (planned investment) WZ6~lhfWiWW~~~  '3191LWU

?a” (planned saving)

C + I + G + N E  =  C + S + T . . . . . . . . . . . . . . . . . . . . . . . . . (1.57)

C + I + G + N E  =  C + S + T . . . . . . . . . . . . . . . . . . . . . . . . . (1.58)

I + G + N E = StT . . . . . . . . . . . . . . . . . . . . . . . . . (1.59)

I + NE = S +(T - G) . . . . . . . . . .._..._......... (1.60)

mJ”Tii  (1.60) aaar~9~iQ1"79~Pls~:sl~~~~~~~la~~~~~nPr~~~oJqa~  (T=G) bbas

nl~d~a~n6~1n”Prms~l6~l  (NE = X - MP = 0) i%ifu
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I+G+NE  =  S + T . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (1.62)

I = g,+g,Y-g,r

G =G

N E  == ?i -m,,-m,P+m,P,+m,n:-m,Y

- -

&Al S + T = -a-(l-b&,+(1-b-t,  +bt,)Y+t,,+t,Y

= -a-t,+bt,+Y-bY-t,y+bt,Y+t,+t,Y

= -a+bt,+Y-bY+bt,)Y

= -a+bt,+( 1-b( 1  -t,))Y . . . . . . . . . . . . . . . (1 .64)

g,+g,Y-g,r+G  +X-m,-m,p+qf+m,7Lm,Y  = -a+bt,+(l-b(l-tJ) . . . . . . . . . . . . . . . . . . (1.6.5)

(I-b( I-t,))Y-g,Y+m,Y = a-bt,-q-m,P+%Pitm,n+G  +X -glr . . . . . . . . . . . . . . . . . . (1.66)

(I -g2+  m,+b( 1 -t,))Y = a--bt,-m,-m,P+m,Pf+m,  7’L+G  +x -g,r . . . . . . . . . . . . . . . (1.67)

Y  =  a-bt,-m,-m,P+%Pf+m,71J+G+  x g1 r . . . . . . . (1.68)
-

Wg,+m,+b(l-t,)) (I-g,  +m,+W-$1)

aum4  (1.6x)  ~Ra~Jmsaa~~s~aarn~~~~~al~~~~~a  iihwi~svvosa8u  I s  $9

r~ansR7,oJ~~~~h~~~,~~~~~,*~“~~~~~a~~~~~~~~~~,~~~~,~~a~~~~~~~  qasniw

I + G + NE = g,+g,Y-g,r+G+X  -m,-m,P+m,Pf+m,7Lm,  Y . . . ..__._.......  (1.63)

aws1Yb

S = - a - (1-b) t,, + (I -b - t, + b t,)Y

T = to+  t, Y
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(I-g,+m,+b(l-t,N

a,-bt,-%-m,P+qPf+m37T+G+  % =  A

U-g,+m,-Wl-$1)

r

0 yo y, A Y

pli  1 . 2 0  a& I S
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l&l S+T =
(+I (+I (+I

f(Y, t,,  t,)

S+T
I S+T
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S+T

....
. ..(S+T).  = -a+bi,,+(l-b(l-t,))Y

(S+T),,=  -a+bt,+( 1 -b( 1 -t,))Y

.,’ (S+T),=  -a+bt/‘,,+(l-b(l-t,))Y
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S+T
,:’: (S+T), = -a+bt,,+  (1-b(l-t’,))Y

.:’
(S+T),  = -a+bt,+(l-b(l-t,))Y

+T),  = -a+bt,+(  1 -b(  d’,))Y

,,  .:. ,..:
-a+bt,  .;:’ ”

I+G+NE  = g,,+g,Y-g, r+G+X-m,-m,P+~Pf+m,7Lrn,Y

I+G+NE  = go-m,-mlP+qPf+(g,  m,)Y+G+X-g,r . . . . . . . . . . . . . . . . . . . . . . . (1 .69)

lhJ”7%i 1.69 hikJUmW6b~'o~a~U I + G + NE iwidlhfwf~~y~

?t? I + G + NE 6ilhf% Z
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r

z = z (r,Y,G,X,P,PJC)

r1

‘0

0

( I + G + N E )  =  Z

go-nb-m,P+mzPit(p,-m,)Y+G

I
I+G+NE =

+X
Z

r

S+T

30 EC 312



C-1  C-t)  (+I  (+I (+I  (+I  (-.I
Z = Z(r, Y, G, X,fl,Pf> p’)

:I,/; l.%(3)  n”sr.#%‘oa  45’  ~l~%&~nq  jwIJua&  il  Z  =  S+T

$Ti  1.2’)(2)  ~8l,~un15~E)BulJ~fl611~  fhGmxmJllan.fl1~~0

(+I  (+I  (+I
S+T = .?+‘I-  (Y,t(),tl)

c$lli  1.19(  I )  da$hsw#u 1s
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Z

(4) r (1)
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(3 I (2)

S+T
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(4)

Z

r

(1)

1%  IS”

. . . . . . . . . . . . . . . . .

.

Y

+ . . . . . . . . .

(S+Th (S+T)

-“‘(S+T)”
(2)
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